Do the crossword
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Listen and guess




G's wearing
trousers and a
short-sleeved
shirt. G's also
wearing sunglasses.
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k D's wearing a

t-shirt, shorts
and a pair of
roller skates.
D's wearing a

C's wearing a
t-shirt and a
pair of trousers
with boots. C's
also wearing a helmet, too.

scarf and a hat. \

A's wearing a long-sleeved
T-shirt and jeans with a

pair of dark shoes.




B's wearing a skirt
and a blouse. B's also
wearing a long jacket.

F's wearing a dress
with a belt, a

waistcoat and long
gloves. F's wearing

T— ' a ha-'- and COWboy
o boo*s' 1’00.
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E's wearing shorts and a

shirt. E's wearing a pair of
long socks and shoes, too.
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Clothes are different

Men wear trousers and
shirts at work

We put on sweaters when it

is cold
Pupils don't like to wear

school uniform
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Children have on shorts
and T-shirts in summer

Girls wear skirts and blouses

We put on raincoats when it is
rainy
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When we have on beautiful clothes
we are...
and we...




